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Geometry@: Practice with Unit 1

This practice should be used as practice for the Unit | assessment. This should not be the only tool that you
use to prepare yourself for the assessment. You must go through your notes, re-do homework problems, class
work problems and formative assessment problems.

12
Use the figure below for Exercises 1-12. Note that RN pierces the plane at /V. It is not coplanar with ¥,

I, Name two segments shown in the figure. (}{\ MC
2. What is the intersection of CM and RN ? Po\\/\’f M
3. Name three collinear points, | -
pPa'ntsciNfM o
4, What are two other ways to name plane V7 plone ANC,
Wwg |
5. Are points R, N, M, and X coplanar? No pieat MXM 4
. - NI
6. Name two rays shown in the figure, NC , XA — 3y
7. Name the pair of opposite rays with endpoint N. NA ond N
— "‘HD ém
8. Name NX two other ways. (yy y H‘K
9. Name a straight angle,  « AN X @ J{
10.  Name the intersection of plane ACX and line CM (I
11.  When two distinct planes intersect, their intersection is a l ine. .

12,  Name intersection of plane ACX and line RN {)U\'\’\"’ N

13. Circle the 4 expressions that use correct notation. (one from each column)

O

AB = CD XT=12cem @:3% mZABC = m/DEF
- ,,.wv-"’;bg”“:"::\ ——— e, _// . MWWW\
AB = CD XY =12 cm ZFEG=32° mZABC=mZDE
14, AY is the same as Y4. True or false? Explain e . , ;
P . A ond i;% oot e end prs of
. Same . wq T o
.1..!._3. \
1. Given: ST=4x + 5and TU =2x + 13. o— © | o
. P 5 b[ s T Cl)( #1 3 U
a. What is the value of ST7 (q\ rs=@A1) 7
. Yyr$ = Axpid
b. What is the value of TU? Q('q) e @ Ay <€ W -¢
¢.  Whatis the value of SU? @ Ay =&
Xe7 Y+ Se-§19
2. Given that B is between points A and C, AB=4x, BC =5x -8, and AC =19, SRS s
| | N Ux =97
&. X = i% 1 B L{x-t» SX’X & -
b. 4B=__ |3 BC-__ '] A B 3 ¥ =3
P - N kY m/
5(3)-% S~

[ 9




3. Draw a diagram in which QS bisects XY at point M,
Given XM =2x + § and XY = 5x, write an equation and solve for x.

Diagram: A Equation:  Ax#S 4+ 2x#S 25% x=  /{
o /s
Qxts ; -
a\.//‘%‘/\“ { i (/l\\, +/ o~ 6"(
Gy ) o
X[ ) M Y ‘J \O =X
“\MQ‘)/M\/"‘\%./
14 6X
1. ZJKI and ZCDE are congruent. If mZJKL = 137, what is m£ZCDE? ’ % '7 ?

Use the figure at the right for Exercises 2-S. mZFXH = 130 and mZFXG = 49,

sexG= <I% 5 |
mLGXH = X1 ) (§ 30~y “’15

Name a straight angle in the figure. < gX I
ZFXG and £ (:)X L form a linear pair.

LA S

5. Complete the angle addition postulate for the diagram at right.
MARZS+ms S 2T =msRZT

7. Reasoning £JNR and ZRNX are congruent. If the sum of the measures of

the two angles is 180, what type of angle are they? air pech 5o ) T
botn 11 q ot 98
LS5
Use the diagram at right, Is each statement true? Explain.
1. £2 and £5 are adjacent angles. T S/ »-

EYGE
2. Z1 and £4 are vertical angles. T~ /?j'

3. Z4 and /5 are complementary. }:,

Name an angle or angles in the diagram described by each of the following,
4, complementary to ZBOC < Q(CAH x' b
S, supplementary to ZDOB <D E ¢

6. adjacent and supplementary to £A0C <& LoD




Use the diagram at right for Exercises 7 and 8, Solve for x,

Find the angle measures. ( 7) G{; ) D
(Q) o 20 e ¢
7. mZCOD =8x+ 13, m£LBOC=3x - 10, mZBOD = 12x - 6 8
(9} 113
7(2...);13 Sy H13 F Ax~10=12x~{p O A

‘7~x

8. ZJKL and ZMNP are complementary, m£JKL =2x =3 and mZ MNP = 5[x + 22 @
What are m£JKL and mZ/MNP? 2(; @@3 8)+2 /
A -3+ Sx+d = 90
Ty - | = A0

r7><*"U

Ny
For Exercises 9-11, QS bisects ZPQR, Solve for x and find mZPQR, @

s P
9. mZLPOS = 3x; mLSQR = 5x - 20
30 4
3x = Sx-20 N S
Q() e mdPQ@_:%P ﬂ
P /0 S
10. mZPOR =3x — 12; m£LPQS =30
2(30) = - e oo
o= 3;;»_ (> X~ ‘:)" L{ \TJ__(L% (O(i//
T2 3%
11, mZPQS =2x + 10; m£LSOR = 5x — 17
Q(q £ i0 o e
- o - A e oy &
L5 A 10 = Sw-1T mePRex J@M}L S/
02 /\} = 3)( X Cl\f

12, Supplementary angles and a linear pair are the same thing, True or False? Explain.

o Calks eee pears f'wue =Y
3’%9@@ A s o False ,/ b
; !ﬁ'/ U\""gg,{ al/[}a cont { QSU‘QPUM qu
o2 ya 0V G0 ey

Mixed Review/Practice. Write an equation and solve for x in each diagram.

Diagram Equation X =

6x 120 Lp}( F@z{) ii.-’;kf
-6

N e -
bx= sy x= ﬂ
AC=1M x=

L. A B c
x=9
c

2. !2x4/ DX FLS + D\X &:‘ e
= ° f(f)‘x 20 «fg(,) x:M

h‘II

B " 15x = w0 _
Xx= i .




i Diagram Equation xX=

3 E is the midpoint of DF

Gx v =(px~9

+7 . 6x -9 - y
; o= dx R—

bo
@

3x+xti3=90
4. * 45+ 130 'H/X /- (8 - 5’? O x= z f
Tx = 17

¥ FAO+ 3w =] §O

o DAL o @xaQOﬁ
y= |5

Yy o+ 2xt 3P = (§0

(px 64 = (§O mZIHJ =
" 2{2H1+3 ¢ e ’ < |7 (p —L}(/‘f‘
<ty = ?,)4-%* 50 x = 12

3x M| = QT

~J
Y
b
T
$§.
y-."
o3
e P
@
Tl
a
=

AE=3x>+4x -1 %) ., b ) ‘
il \ - K Sxe oo L - — f& 1
RN ¢ BC=2x-Tx+11 | L T x=_ o
\ x F il 12 = 0 —=
B (X =Y« H?) =0 x="12

Draw a sketch and label as needed, Do the best that you can with the drawings.
8. Three collinear points 4, B, and C. 9. MN intersecting 4B at point R,

A 9 C.
10. Coplanar points ¥, X, ¥, and Z. 11. Collinear rays, JK and JC

e y \\?
e “‘ / I L U / e - 3 ‘—:"“""‘5”*“-”'?
‘%“""“'\ TE - = T (<.
BN / L J
12. Acute angle LMN /{/ & 13. Obtuse angie XYZ
l,{() _ X
M N \fffﬁm,
14. GO with midpoint £ 15, Angles that are supplementary, but not a linear pair,
. 7
B e \1 707 z/‘:’
() ) - R A
¢ 0 L L .

16. Straight angle BAL 17. LM biseets NO, but NO does not bisect LM

.\
]
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O L os?
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